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https://github.com/tomiokamada/regio/tree/master/shortest

EFa ("f't%tnn7)

= P55 ACM ICPC aL\—D |:|/755 507 2 D 2010 EER T
EEIE (BE 1,2, AOJ)

- = -

_l‘l‘-’-’-ﬁ,
- >
(AR

\



https://icpc.iisf.or.jp/acm-icpc/problems/
https://icpc.iisf.or.jp/past-icpc/domestic2010/#section_B
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3d—JL?) return & XZ;
R DMBEEEnode [TxFL T

enqueue(queue, node);




é@f‘ﬁ?%%tﬂla@fﬂ "??I

2‘@5‘6? f?: lfllm@f'ﬁ fﬁ
.Biﬁ?*% LE-m&EEk O IR ML IELMIE
®Stack or BB IRMEH LFIFE ®Queue ¥ FH

(1)
(2) () (&,
() © Q@
@) © 19 2

FNFNDE L Wikipedia M55

44



[I]EEI1E§E1: ?L—COH%

. BITANBI 7 T EL
X FRIZHEDDI? ; 7
>EEHIEALYZES
OFHIR MM BIEEICIER
> queue HMEF

o Hh s X EAFEIFAH 2
ATYTHDEEKIT? -
> 2R IoEE S| TOK




70495 L fl@github }

BELRRL T |

. 7Ld~( 75‘(«\%)75\7:1 g.push(start);
while( !'g.empty() ) {
.%jj_rﬁl "JE&)%N’J\ ? point here = g.front();
>EEHITEMLYEFS g.pop();

for( d: directions) {
oFHIR MM LIEEIZER if(d DA EIZUMFT=) {

> gueue H | point next = here + d;
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if(next (XExFIDERR) {
o X X EAfEFEH ? next D SHFE 2 83;
=~ &b (TS 45 g.push(next);
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https://github.com/tomiokamada/regio/blob/master/shortest/maze.cpp
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3d—JL?) return & XZ;
R DMBEEEnode [TxFL T

enqueue(queue, node);
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3d—JL?) return & XZ;
R DMBEEEnode [TxFL T

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3d—JL?) return & Z;
R DMBEEEnode [TxFL T

enqueue();



https://github.com/tomiokamada/regio/blob/master/shortest/hopDijkstra.cpp
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3d—JL?) return & Z;
R DMBEEEnode [TxFL T

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3d—JL?) return & Z;
R DMBEEEnode [TxFL T

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);
if(3d—JL?) return & Z;
R DMBEEEnode [TxFL T

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);

if(2—)L?) return B A;
KT DBEEEnode ITXLT

enqueue();



https://github.com/tomiokamada/regio/blob/master/shortest/hopAstar.cpp
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);

if(2—)L?) return B A;
KT DBEEEnode ITXLT

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);

if(2—)L?) return B A;
KT DBEEEnode ITXLT

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);

if(2—)L?) return B A;
KT DBEEEnode ITXLT

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);

if(2—)L?) return B A;
KT DBEEEnode ITXLT

enqueue();
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int solve() {
enqueue(queue, - 0 );
while(gSize(queue)>0) {
node_t here = dequeue(queue);

if(2—)L?) return B A;
KT DBEEEnode ITXLT

enqueue();
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https://judge.u-aizu.ac.jp/onlinejudge/description.jsp?id=1150&lang=jp
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https://judge.u-aizu.ac.jp/onlinejudge/description.jsp?id=1150&lang=jp
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https://judge.u-aizu.ac.jp/onlinejudge/description.jsp?id=1150&lang=jp
https://github.com/tomiokamada/regio/blob/master/shortest/cliff.cpp
https://github.com/tomiokamada/regio/blob/master/shortest/cliff.py
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